TEACHER'S GRANT APPLICATION

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

Thecpef@gmail.com

Your Name(s)_4th Grade Teachers: Robert Cochrane, Laura Flynn, Nicole Hartman, Karen Stryker, Jamie Surrette

Date of Request:_April 18, 2019

SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCLUDE WHO, WHAT, WHY & HOW

We are requesting 125 student subscriptions to **Time for Kids**, a high interest non-fiction magazine. The magazine consists of weekly issues throughout the school year and is geared toward 4th grade students.

Fourth grade Common Core standards demand that a larger percent of reading instruction be with *nonfiction* texts. **Time for Kids** magazine provides relevant and engaging nonfiction passages. The cross-curricular content often connects to current events, social studies, science, and other content areas.

Time for Kids offers numerous ways to educate and engages students; such as: a weekly magazine, interactive activities, audio read aloud, whole class digital edition, formative assessments, articles at various reading levels, vocabulary practice, evidence based thinking, science articles, paired text and much more.

DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TARGETED POPULATION, COSTS, ETC.

The subscription costs \$4.95 per student. We are planning on 24 student copies and 1 teacher copy for each of the 5 homerooms.

This will total $125 \times 4.95 = 618.75$

EVALUATION (HOW WILL YOU MEASURE STUDENT GROWTH)

Time For Kids meets Common Core State Standards. This nonfiction magazine supports anchor standards in most subjects. Using this magazine will also help meet key standards in Reading, Writing, Speaking and Listening, and Language.

There are performance tasks in each issue that are designed for students to demonstrate their understanding of what they've learned. For example, an essay, a video, a poster, etc. We will be able to evaluate student growth through the activity sheets, quizzes, reading, and writing prompts requiring students to read closely, draw conclusions from text evidence, and understand nuances of language.

These discussed this with the fallewise two calles were	Marie Marie
I have discussed this with the following two colleagues:	
NAME: Karen Stryker, Nicole Hartman, Robert Cochrane, Jamie Surrette	

Please attach any additional information that would assist the CPEF in making a determination as to your Grant Proposal.

TOTAL GRANT AMOUNT \$618.75

Please submit completed Grant applications to: <u>mmazzoni@chesterfield.nj.k12us.com</u> and <u>thecpef@gmail.com</u>

Chesterfield Elementary School

2019-2020 Calendar

SEPTEMBER 2019 M F 3 5 6 9 10 11 12 13 17 20 16 18 19 23 24 25 27 26 30

M	TW	w	T	F
	1	2	3	4
7	8	9	10	11
14	15	16	17	18
21	22	23	24	25
28	29	30	31	

N	OVE	MBEI	₹ 201	9
M	F			
				1
4	5	6	Z	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

D	ECE	MBE	R 201	9
M	T	w	T	F
2	3	4	5	6
9	10	11	12	13
16	17	18	19	20
23	24	25	26	27
30	31			

	JANU	JARY	2020)
M	T	w	T	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	31

SEP	TEMBER (18 Days)
2	School Closed—Labor Day
3-4	Staff In-Service
5	First Day of School for Students

18......Early Dismissal*—Back-to-School Night

OCTOBER (22 Days)

4......Mid-Marking Period 9......School Closed—Staff In-Service

NOVEMBER (16 Days)

6	End of 1st Marking Period
7-8	School Closed—NJEA Convention
11	School Closed—Staff In-Service
20	Report Cards Available Online
21	Early Dismissal*—Evening Parent/Teacher Conferences
22	Early Dismissal*—Afternoon Parent/Teacher Conferences
25	Early Dismissal*—Evening Parent/Teacher Conferences
26	Early Dismissal*—Afternoon Parent/Teacher Conferences
27	Early Dismissal*
28-29.	School Closed—Thanksgiving Holiday

DECEMBER (15 Days)

13......Mid-Marking Period

20......Early Dismissal-Winter Break Begins (through Jan.1)

JANUARY (21Days)

1	School Closed—New Year's Day
2	School Re-Opens
20	School Closed-Martin Luther King Day
24	End of 2nd Marking Period
31	Report Cards Available Online

FEBRUARY (17 Days)

4-7	6th Grade Fairview Lake Trip
14-17.	School Closed-Presidents Day Weekend
18	School Closed—Staff In Service

MARCH (22 Days)

2	Mid-N	larki	ng Perio	od			
20	Early	Disn	nissal*-	-Paren	t/Teacher	Conferen	ces

APRIL (16 Days)

1	End of 3rd Marking Period
8	Report Cards Available Online
10	School Closed, Spring Break Begins
20	School Re-Opens

MAY (19 Days)

11	Mid·Marking Period
22-25	School Closed—Memorial Day Weekend

JUNE (14 Days)

10.19	Early Dismissal Days*
17	6th Grade Graduation
18	Last Day of School
18	Report Cards Available Onlin

*No lunch is served on early dismissal days. Calendar Approved: March 18, 2019 Revision Approved:

The following are make up days for emergency school closings:
February 14, May 22, June 19,22, 23, 24, 25, 26
(If additional days are needed, they will be taken from
spring break: April 17,16,15, 14)

To view the PTA or CPETS Colorder of Events places go to

To view the PTA or CPEF's Calendar of Events, please go to Chesterfield School's website and click on the appropriate link.

F	EBR	UARY	Y 202	0
M	T	w	T	F
3	4	5	6	7
10	11	12	13	14
17	18	19	20	21
24	25	26	27	28

	MAI	RCH 2	2020	
M	T	w	T	F
2	3	4	5	6
9	10	11	12	13
16	17	18	19	20
23	24	25	26	27
30	31			

	API	RIL 2	020	
M	Т	w	T	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	

	M	AY 20	20	
M	Т	w	T	F
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

JUNE 2020					
M	т	w	T	F	
1	2	3	4	5	
8	9	10	11	12	
15	16	17	18	19	
22	23	24	25	26	
29	30				

Chesterfield Elementary School

2019-2020 Calendar

Little Dragons

SEPTEMBER 2019 M T F 2 3 4 5 6 9 10 11 12 13 AM 19 20 16 17 23 24 25 26 27 30

M	T	w	T	F
	1	2	3	4
7	8	9	10	11
14	15	16	17	18
21	22	23	24	25
28	29	30	31	

M	T	w	T	F
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	PM	AM
PM	AM	PM	28	29

D	ECE	MBE	R 201	19
м	T	w	T	F
2	3	4	5	6
9	10	11	12	13
16	17	18	19	AM
23	24	25	26	27
30	31			

	JANU	JARY	2020)
M	Т	w	т	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	31

2	School Closed—Labor Day
3-4	Staff In-Service

5......First Day of School for Students

18......Early Dismissal*—Back-to-School Night

OCTOBER (22 Days)

SEPTEMBER (18 Days)

4......Mid-Marking Period

9......School Closed—Staff In-Service

NOVEMBER (16 Days)

6.....End of 1st Marking Period

7-8.....School Closed—NJEA Convention

11.....School Closed—Staff In-Service

20......Report Cards Available Online

21......Early Dismissal*—Evening Parent/Teacher Conferences

22......Early Dismissal*—Afternoon Parent/Teacher Conferences

25.....Early Dismissal*—Evening Parent/Teacher Conferences

26......Early Dismissal*—Afternoon Parent/Teacher Conferences

27......Early Dismissal*

28-29...School Closed—Thanksgiving Holiday

DECEMBER (15 Days)

13......Mid-Marking Period

20......Early Dismissal-Winter Break Begins (through Jan.1)

JANUARY (21Days)

1......School Closed—New Year's Day

2.....School Re-Opens

20......School Closed-Martin Luther King Day

24......End of 2nd Marking Period

31......Report Cards Available Online

FEBRUARY (17 Days)

4-7.....6th Grade Fairview Lake Trip

14-17...School Closed-Presidents Day Weekend

18......School Closed-Staff In-Service

MARCH (22 Days)

2.....Mid-Marking Period

20......Early Dismissal*—Parent/Teacher Conferences

APRIL (16 Days)

1.....End of 3rd Marking Period

8.....Report Cards Available Online

10......School Closed, Spring Break Begins

20.....School Re-Opens

MAY (19 Days)

11.....Mid-Marking Period

22-25.....School Closed-Memorial Day Weekend

JUNE (14 Days)

16-18....Early Dismissal Days*

17......6th Grade Graduation

18.....Last Day of School

18......Report Cards Available Online

Calendar Approved: March 18, 2019 Revision Approved:

The following are make-up days for emergency school closings: February 14, May 22, June 19,22, 23, 24, 25, 26 (If additional days are needed, they will be taken from

spring break: April 17,16,15, 14)
AM Session—8:45—11:15 In the event of

PM Session-12:30-3:00

In the event of a delayed opening only the PM session will attend at their regular time

F	EBR	UAR	Y 202	0
M	T	w	T	F
3	4	5	6	7
10	11	12	13	14
17	18	19	20	21
24	25	26	27	28

MARCH 2020					
M	т	w	T	F	
2	3	4	5	6	
9	10	11	12	13	
16	17	18	19	PM	
23	24	25	26	27	
30	31				

APRIL 2020					
M	T	w	T	F	
		1	2	3	
6	7	8	9	10	
13	14	15	16	17	
20	21	22	23	24	
27	28	29	30	SECONO III	

	MAY 2020					
M	Т	w	T	F		
				1		
4	5	6	7	8		
11	12	13	14	15		
18	19	20	21	22		
25	26	27	28	29		

JUNE 2020					
M	Т	w	T	F	
1	2	3	4	5	
8	9	10	11	12	
15	AM	PM	AM	19	
22	23	24	25	26	
29	30				

Chesterfield Elementary School

2019-2020 Calendar

Little Dragons 2 SEPTEMBER (18 Days) 2......School Closed—Labor Day

3-4.....Staff In-Service

5......First Day of School for Students

18......Early Dismissal*—Back-to-School Night

OCTOBER (22 Days)

4......Mid-Marking Period

9......School Closed-Staff In-Service

NOVEMBER (16 Days)

6.....End of 1st Marking Period

7-8.....School Closed—NJEA Convention

11......School Closed—Staff In-Service

20......Report Cards Available Online

21......Early Dismissal*—Evening Parent/Teacher Conferences

22......Early Dismissal*—Afternoon Parent/Teacher Conferences

25......Early Dismissal*—Evening Parent/Teacher Conferences

26......Early Dismissal*—Afternoon Parent/Teacher Conferences

27.....Early Dismissal*

28-29...School Closed—Thanksgiving Holiday

DECEMBER (15 Days)

13......Mid-Marking Period

20......Early Dismissal-Winter Break Begins (through Jan.1)

JANUARY (21Days)

1......School Closed-New Year's Day

2.....School Re-Opens

20......School Closed—Martin Luther King Day

24......End of 2nd Marking Period

31......Report Cards Available Online

FEBRUARY (17 Days)

4-7.....6th Grade Fairview Lake Trip

14-17...School Closed-Presidents Day Weekend

18......School Closed-Staff In Service

MARCH (22 Days)

2......Mid-Marking Period

20......Early Dismissal*—Parent/Teacher Conferences

APRIL (16 Days)

1.....End of 3rd Marking Period

8......Report Cards Available Online

10......School Closed, Spring Break Begins

20.....School Re-Opens

MAY (19 Days)

11.....Mid-Marking Period

22-25.....School Closed-Memorial Day Weekend

JUNE (14 Days)

16-18....Early Dismissal Days*

17......6th Grade Graduation

18.....Last Day of School

18......Report Cards Available Online

Calendar Approved: March 18, 2019

Revision Approved:

The following are make-up days for emergency school closings: February 14, May 22, June 19,22, 23, 24, 25, 26 (If additional days are needed, they will be taken from

spring break: April 17,16,15, 14)

On Delayed Openings, Little Dragons 2 will begin at the same time as the K-6 students.

On Early Dismissal Days, Little Dragons 2 will dismiss @ 12:00.

F	FEBRUARY 2020					
M	T	w	T	F		
3	4	5	6	7		
10	11	12	13	14		
17	18	19	20	21		
24	25	26	27	28		

	MARCH 2020					
м	T	w	T	F		
2	3	4	5	6		
9	10	11	12	13		
16	17	18	19	12:00		
23	24	25	26	27		
30	31					

APRIL 2020					
м	Т	w	т	F	
		1	2	3	
6	7	8	9	10	
13	14	15	16	17	
20	21	22	23	24	
27	28	29	30		

	MAY 2020					
M	T	w	T	F		
				1		
4	5	6	7	8		
11	12	13	14	15		
18	19	20	21	22		
25	26	27	28	29		

JUNE 2020				
М	Т	w	т	F
1	2	3	4	5
8	9	10	11	12
15	12:00	12:00	12:00	19
22	23	24	25	26
29	30			

JANUARY 2020 M T W T F 2 3 1 6 7 8 9 10 13 14 15 16 17 21 22 24 23 27 28 29 30 31

SEPTEMBER 2019

4

11

12:00

25

OCTOBER 2019

W

2

9

16

23

30

NOVEMBER 2019

w

6

13

20

12:00

DECEMBER 2019

W

4

11

18

25

5

12

19

26

3

10

17

24

31

14

T

5

12

19

6

13

20

27

4

11

18

25

F

1

15

12:00

29

F

6

13

12:00

M

2

9

16

23

30

M

7

14

21

28

M

11

18

M

2

9

16

3

10

17

24

1

8

15

22

29

12

19

12:00

T

3

10

17

24

31

CHESTERFIELD TOWNSHIP BOARD OF EDUCATION FILE CODE: 1312 Chesterfield, New Jersey

Regulation

PROCEDURES FOR COMPLAINTS AND INQUIRIES

The Chesterfield Township Board of Education welcomes inquiries about and constructive criticism of the district's programs, equipment, operations and personnel. Any person or group having a legitimate interest in the school may present a request, suggestion, or complaint concerning school personnel, the educational program, instructional or resource materials, or the operations of the school.

Any misunderstandings or disputes between the public and school district staff should, whenever possible, be settled by direct, informal discussions among the interested parties. It is only when such informal meetings fail to resolve differences that more formal procedures shall be employed.

The board expects that reasonable efforts shall be made to resolve disputes at the lowest possible level. At the request of the complainant and the at the discretion of superintendent or the board of education, the processing of a complaint may be expedited and/or processed initially at higher levels in those exceptional circumstances warranted by the nature or emergent circumstances of the complaint. In addition, the timelines contained in these procedures may be extended at any level with the consent of the complainant.

Order of Complaint/Appeals

Complaints shall be addressed in the following order to ensure prompt and meaningful resolution:

- A. Individuals having a general complaint regarding a situation, activity or procedure in a school that is not specific to any individual,
- 1. Principal
- 2. Superintendent
- 3. Board of Education
- B. Individuals having a complaint (other than board members not in parental capacity) against a teacher or supervisor:
- 1. Teacher or supervisor first
- 2. Principal
- 3. Superintendent
- 4. Board of Education
- C. Individuals having a complaint against the principal:
- 1. Principal
- 2. Superintendent
- 3. Board of Education
- D. Individuals having a complaint against any janitor, custodian, secretary, cafeteria worker:
- 1. Individual first
- 2. Principal (if a building complaint) or school business administrator (if a business office or custodian complaint)
- 3. Superintendent
- 4. Board of Education
- E. Individuals having a complaint against the superintendent:
- 1. Superintendent
- 2. Board of Education
- F. Board members having a complaint should not approach the employees of the district with complaints about them. If the matter is not resolved to the board member's satisfaction, he/she should contact the board president to see if it is a matter for Board Meeting Agenda.

PROCEDURES FOR COMPLAINTS AND INQUIRIES (regulation continued)

Complaint/Appeal Protocol

Level One: Discussion Level

The first level of the handling of a complaint involves an informal discussion at the lowest possible level. The lowest level will vary, depending on the circumstances and the nature of the complaint. Generally, the lowest possible level shall be the employee whose decision or action is the subject of the complaint. For example, with respect to student and/or parent concerns about a classroom matter, the informal discussion and resolution should normally take place at the teacher level. With respect to the operation of a school, or in any cases of doubt, a complaint should be lodged with the principal.

Any allegations of child abuse or criminal activity shall be communicated to the principal or other designated administrator depending upon the circumstances. The principal or other administrator shall contact state agencies and law enforcement when required or warranted.

Level Two: Initial Appeal

If the informal discussion at Level One does not resolve the issue, the complainant may file a written appeal in accordance the structure set forth above in the "Order of Complaint/Appeals".

The written appeal shall include at a minimum the following information:

- 1. The name and contact information of person submitting the complaint;
- 2. Date and manner of the submission of initial complaint;
- 3. The outcome of the initial complaint;
- A description of the basis of the appeal, including why the individual believes the handling of the initial complaint was in error; and
- 5. Any supporting documentation.

Teachers or other employees to whom the complaint was directed at Level One shall be advised of a Level Two Appeal and may be requested to attend a meeting related to the complaint. In any such meeting, the teacher or other employee shall have the right to representation.

The individual overseeing the appeal shall conduct such meetings and/or investigations as he/she deems appropriate and either resolve the matter informally or make an administrative determination on the matter.

If the appeal is not resolved informally, the individual handling the initial appeal shall issue his/her decision in writing within ten (10) calendar days of notice of the complainant's appeal. The decision shall set forth any findings of fact and convey the basis of the decision. The decision shall be forwarded to the complainant, the teacher or other staff member who addressed the complaint at Level One and the individual designated to oversee Level Three of the Appeals process.

Level Three:

In the event the complainant is dissatisfied with the determination made in Level Two, the complainant may appeal the matter by submitting a written appeal within ten (10) calendar days of the determination.

The appeal must set forth the determination being appealed, the basis for the appeal and the specific relief requested.

Any documents to support the appeal should be attached to the appeal. In reviewing a matter on appeal, the individual overseeing the appeal shall conduct such investigation/review as he/she deems appropriate. The individual may, but is not required to meet with the complainant, and shall confer and consult with the principal and such other staff as he/she deems appropriate.

If the complaint is about a particular employee's decision or action, the employee shall receive a copy of the appeal and be provided an opportunity to submit a written response to the complaint within five (5) school days of receipt of the complaint.

PROCEDURES FOR COMPLAINTS AND INQUIRIES (regulation continued)

The individual overseeing the appeal shall render a decision on the appeal within ten (10) calendar days of receipt of the appeal. The decision shall be communicated in writing to the complainant and any employees directly involved in the appeal process. The decision shall set forth any findings of fact and convey the basis of the decision.

Level Four: Appeal to the Board of Education

In the event the complainant is dissatisfied with the determination made by the superintendent, the complainant may file an appeal with the board of education.

Any such appeal must be in writing and filed in the board office within ten (10) calendar days of the superintendent's decision.

The written appeal must set forth the determination being appealed, the basis for the appeal and the specific relief requested.

If the matter is referred to the board, it shall be scheduled for review by the full board at its next possible meeting provided reasonable advance notice may be provided to the individuals involved in the appeal. The provisions of the Open Public Meetings Act shall apply to review of appeals by the full board. The board shall render a decision on the appeal within five (5) calendar days of its consideration of the appeal. The board's decision shall be communicated in writing to the complainant and any employees directly involved in the appeal process.

It is understood that any member of the community seeking redress who feels that satisfaction has not been received retains the right to carry the complaint to the next highest level of authority.

The board requests that all complaints be signed. Anonymous complaints shall be disregarded unless issues of health and safety are involved. The superintendent shall determine if an anonymous complaint shall be investigated.

Any administrator receiving a complaint shall refer the complainant to the appropriate individual in the chain of command.

Any board members who are contacted with complaints shall refer the complainant to the superintendent who shall refer the issue to the appropriate individual in the chain of command.

Complaints and Inquiries regarding board actions/operations

- A. Questions and/or complaints about board actions or operations may be made at the appropriate time during public board meetings (see policy 1120 Board of Education Meetings) or in writing to the office of the superintendent.
- B. The superintendent or his or her designee shall respond to all inquiries about district issues. When appropriate, he/she may require the issue to be put in writing. In the response, the superintendent shall indicate:
 - If the information requested is restricted and the district is prohibited by law from providing the information requested;
 - 2. The time frame in which the information requested will be available;
 - 3. Whether the response will be given orally at a board meeting and/or in writing to the questioner:
 - a. If the information is of general interest, it will be given publicly at a board meeting and every attempt shall be made to respect and protect the confidentiality of those involved:
 - b. If the information is personal, or of interest only to the respondent, it will be given in writing. The board shall be copied on the written response unless privacy or legal issues prohibit such action;
 - 4. How the questioner will be notified of the date and time of the board meeting if the response is to be given publicly;
 - 5. Whether there will be any charge for duplication of materials and what those charges might be.

PROCEDURES FOR COMPLAINTS AND INQUIRIES (regulation continued)

Procedure for Complaints And Inquiries Regarding Compliance with Federal Law

Inquiries about and constructive criticism of the district programs, equipment, operations and personnel subsidized through federal funding under the Every Student Succeeds Act of 2015 (ESSA) shall be addressed according to the following procedure. In most cases, it is possible to make a satisfactory adjustment by staff at the building level or by the superintendent at the district level. If this is not possible, complaints may be referred to the board of education for resolution.

Parents and community members who have specific concerns regarding the administration of education programs required by the Elementary and Secondary Education Act (ESEA) as amended by the Every Student Succeeds Act of 2015 should first attempt to settle their concerns locally as described above. If issues still remain, a complaint may be filed with either the New Jersey or the United States government.

A complaint is a written allegation that a school, school district, other agency authorized by a school district or the New Jersey Department of Education (NJDOE) has violated the law in the administration of education programs required by the ESSA. A complaint shall identify:

- A. The alleged ESSA violation;
- B. The facts supporting the alleged violation; and
- C. Any supporting documentation.

To initiate a complaint that a school, school district, or other agency authorized by a school district or the NJDOE has violated the administration of an education program, a complainant must submit a written complaint to the NJDOE, attention Burlington County Executive Chief School Administrator. An allegation may be submitted in writing or electronically. If a complaint is submitted electronically, a hard copy should also be sent to the NJDOE via regular mail.

A copy of the New Jersey procedures for processing the complaint may be obtained from the Office of the Burlington County Executive Chief School Administrator.

The New Jersey procedures require that the executive county superintendent coordinate the investigation of the complaint. When the investigation is complete, the executive county superintendent will notify the complainant in writing regarding the outcome of the investigation. If a violation has occurred, the assistant commissioner assigned to oversee the matter shall identify and impose the appropriate consequences or corrective action as required by regulation to resolve the complaint. If the complainant does not agree with the NJDOE's decision, the complainant may appeal to:

United States Department of Education Secretary Office of Hearings & Appeals 400 Maryland Avenue, SW Washington, DC 20202-4611 (202) 619-9700 www.ed-oha.org

To initiate a complaint against the NJDOE alleging a violation of the administration of a program, a written complaint should be submitted to:

Chief of Staff New Jersey Department of Education Office of the Chief of Staff P.O. Box 500 Trenton, New Jersey 08625-0500 (609) 292-4442

PROCEDURES FOR COMPLAINTS AND INQUIRIES (regulation continued)

If the complainant is unsatisfied with the resolution or the process, the complaint may be submitted to:

United States Department of Education Secretary Office of Hearings and Appeals 400 Maryland Avenue, SW Washington, DC 20202-4611 (202) 619-9700.

Adopted:

February 21, 2007

NJSBA Review/Update:

May 2011, August 2017

Readopted:

September 21, 2011

Revised:

May 16, 2018

Chesterfield Township School HEALTH OFFICE REPORT

Date: April 2019

Student Visits:	Category	Number
	First Aid	167
	Medications	260
	Medical	140
	Other	72
	Counseling	0
	Health Screenings	1
	Health screenings for I&RS or CST	11
	Head lice checks	0
	DYFS	0
	Staff Visits	12
	Parent Communication	86
	Documentation of records	0

ealth Office Visits: Total: 749	Per Day: 49
---------------------------------	-------------

Communicable Diseases:	Disease	Number of cases
	Strep Throat	2
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0

Accident Reports	1
Students on daily medication / treatment	14
Telephone Calls to parents for illness or injury at school	86
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	4
DYFS	0
Home Visits	0
Students on Homebound Instruction	0

Comments:

Taught Health Class for 5th and 6th grades (Family Life)

Inventory

Started Supply Ordering Process

Continued orientation of new nurse

School Nurse: Stacey Farreny, BSN,RN,CSN	Stacey L Farreny
Charmaine Ramos, MSEd, BSN, RN	Tharmaine Ramos

Emergency Drill Log for 2018-2019 School Year

Month	Date	Type of Drill
July	July 12, 2018	Fire Drill
38	July 18, 2018	Fire Drill
September	September 19, 2018	Bus Evacuation Drill
	September 21, 2018	Fire Drill
	September 27, 2018	Lock Down Drill Code In
October	October 2, 2018	Fire Drill
	October 30, 2018	Bomb Threat Drill
November	November 2, 2018	Evacuation Drill
	November 19, 2018	Fire Drill
December	December 6, 2018	Fire Drill
	December 13, 2018	Bomb Threat Drill
January	January 4, 2019	Fire Drill
	January 9, 2019	Bomb Threat Drill
February	February 27, 2019	Fire Drill
	February 28, 2019	Lock Down Drill
March	March 14, 2019	Fire Drill
	March 29, 2019	Lock Down Drill
April	April 16, 2019	Fire Drill
	April 29, 2019	Lock Down Drill
May		
June		
¥II		
(6)		9
	ju ju	

2018/2019: School Disciplinary Incidents

SEPT	ОСТ	NOV	DEC	JAN	FEB	MAR	APR	MAY	JUNE
							<i>\pi</i>		
6	9	8	16	11	23	9	20		
0	0	2	0	0	0	1	1		
2	6	4	4	0	8	0	6		
0	0	0	0	4	0	0	0		
0	0	0	2	1	0	2	4		
	6 0 2 .	6 9 0 0 2 6 0 0	6 9 8 0 0 2 2 6 4 0 0 0	6 9 8 16 0 0 2 0 2 6 4 4 0 0 0 0	6 9 8 16 11 0 0 2 0 0 2 6 4 4 0 0 0 0 0 4	6 9 8 16 11 23 0 0 2 0 0 0 2 6 4 4 0 8 0 0 0 0 0 4 0	6 9 8 16 11 23 9 0 0 2 0 0 0 1 2 6 4 4 0 8 0 0 0 0 0 4 0 0	6 9 8 16 11 23 9 20 0 0 2 0 0 0 1 1 2 6 4 4 0 8 0 6 0 0 0 0 0 0	6 9 8 16 11 23 9 20 0 0 2 0 0 0 1 1 2 6 4 4 0 8 0 6 0 0 0 0 4 0 0 0

FACILITY REPORT

May 9, 2019

- ARTIFICIAL TURF ON PLAYGROUND #2 WILL BE REMOVED AND CHECKED FOR PROPER DRAINAGE. WE WOULD LIKE TO THEN INSTALL PLAYGROUND MULCH. STILL GATHERING INFORMATION.
- TRI-STATE LIGHTING WILL BE HERE NEXT WEEK SO WE CAN SHOW HIM MINOR ISSUES WE ARE HAVING WITH A COUPLE OF LIGHTS.
- CAFETERIA TABLES AND BENCHES WERE DELIVERED WE STILL NEED TO ORDER THE OTHER HALF FOR THE STREET SIDE OF THE CAFETERIA.
- ROOF MAINTENANCE WORK COMPLETED.
- CM3 HAS STARTED CAMERA WIRE INSTALLATION.

Robert Carter Building and Grounds Supervisor

WOID Priority Craft Description	Location Assigned To	Dates:3/1/2019 - 3/31/2019 Building Area Description Area Number	Deferred By Request Date Ta Reason Days Aged A	arget Completion Date ctual Completion Date st Status Change Date	Labor Hours	Total Costs
Requeste						
Status:	Closed Work	Orders	3/28/2019		0.25	\$7.78
12673	30 Saddle Way		3/20/2019	2/20/2010	0.25	\$1.10
Medium	Pingitor, Larry		0.00.0040.0.05.05.444	3/28/2019		
	entilation /Air		3/28/2019 2:35:35 AM	4/9/2019		
to PM sch	PM Schedule created edule details.	on 1/9/2012 - Refer	fire pump room heatwas on no problems	at this time		
Robert Ca			3/28/2019	<u> </u>	0.25	¢ 7 70
12672	30 Saddle Way		3/28/2019	0.00.0040	0.25	\$7.78
Medium	Pingitor, Larry		00000100000	3/28/2019		
Heating/V	entilation /Air		3/28/2019 2:35:34 AM	4/9/2019		
	PM Schedule created edule details.	on 1/9/2012 - Refer	water room heat was on no problems at th	is time		
Robert Ca			20000040		0.05	A7 70
12664	30 Saddle Way		3/26/2019		0.25	\$7.78
Medium	Pingitor, Larry	3	1	3/27/2019		
General M	laintenanœ	203	3/26/2019 10:07:57 AM	4/9/2019		
Can we pl copier? T	lease have more pap hank you	er for the library	delivered paper			
Laura DiM						
12668	30 Saddle Way		3/27/2019		0.5	\$15.57
High	Pingitor, Larry	Classroom		3/27/2019		
Electrical		b 118	3/27/2019 7:33:24 AM	4/9/2019		
outlet not	working under white I	board right side	replaced outlet			
Jack Pak						
12669	30 Saddle Way		3/27/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		3/27/2019		
Custodial		305	3/27/2019 8:19:42 AM	4/9/2019		
We are ou	it of paper towels in th	he classroom.	replenished towels			
karen stry	ker					
12675	30 Saddle Way		3/28/2019		0.25	\$7.78
Medium	Pingitor, Larry	Media Center	1	3/29/2019		
Moving		203	3/28/2019 1:19:43 PM	4/9/2019		
moved fro	eavy magazine rack th m the Library into Kar Thank you feola		moved magazine rack			

WOID Priority	Location Assigned To	Building Area Description		Target Completion Date Actual Completion Date	Labor Hours	Total Costs
Craft		Area Number	Deferred Until Created Date/Time La	ast Status Change Date		
Descripti	on		Action Taken			
Requeste	r Name					
12650	30 Saddle Way		3/19/2019		6	\$186.78
Medium	Pingitor, Larry	Classroom	6	3/25/2019		
IT/Techno	logy		3/19/2019 9:27:56 AM	4/9/2019		
boards fo	II 4-5-6 grade classro r removal of eno boa nethean boards also	rds being replaced	classroom boards removed. re installed			
Rene Har	rris					
12651	30 Saddle Way		3/19/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom	1	3/20/2019		
Moving		301	3/19/2019 2:33:42 PM	4/9/2019		
Time Avai	ave 1 (2 if possible) n ilable: Any	netal bookshelves?	delivered 2 shelfs			
Jennifer H	30 Saddle Way		3/21/2019		0.25	\$7.78
Medium	Pingitor, Larry			3/21/2019	2412-24	• • • • • • • • • • • • • • • • • • • •
	/entilation /Air		3/21/2019 12:59:58 AM	4/9/2019		
Weekly-I	PM Schedule created ledule details.	on 1/9/2012 - Refer	water room heat is on no problems at this	stime		
Robert Ca	arter					
12655	30 Saddle Way		3/21/2019		0.25	\$7.78
Medium	Pingitor, Larry			3/21/2019		
Heating∧	entilation /Air		3/21/2019 12:59:59 AM	4/9/2019		
	PM Schedule created edule details.	on 1/9/2012 - Refer	fire pump room heat is on no problems a	at this time		
Robert Ca	arter					
12661	30 Saddle Way		3/25/2019			\$0.00
Medium	Pingitor, Larry			3/25/2019		
			3/25/2019 1:57:44 AM	4/9/2019		
	PM Schedule created PM schedule details.	on 2/27/2012 -	generator no test needed at this time			
Robert Ca	arter					

NOID Priority	Location Assigned To	Building Area Description	· · · · · · · · · · · · · · · · · · ·	Target Completion Date Actual Completion Date	Labor Hours	Tota Costs
Craft		Area Number	Deferred Until Created Date/Time La	ast Status Change Date		
Descriptio	on		Action Taken			
Requeste	r Name	35				
12662	30 Saddle Way	382 19	3/25/2019		0.5	\$15.57
Medium	Pingitor, Larry			3/25/2019		
Landscap	ing		3/25/2019 1:57:45 AM	4/9/2019		
공사의 보이는 유명하다 함께 있는 그게 가	PM Schedule created PM schedule details.	on 9/10/2012 -	courtyard trimmed overgrown butterfly be	ush.		
Robert Ca						
12663	30 Saddle Way		3/25/2019		0.25	\$7.78
Medium	Carter, Robert	ComputerLab		3/25/2019		
General M	Maintenance	209	3/25/2019 10:05:24 AM	4/9/2019		
Out of har	nd sanitizer		replenished dispenser			
Angela Ma	anning					
12666	30 Saddle Way		3/26/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom	1	3/27/2019		
Equipmer	nt Maintenanœ	236	3/26/2019 11:19:04 AM	4/9/2019		
The pape working.	r towel dispenser in ı	my classroom is not	replaced dispenser			
Tracey Mil	ller					
12624	30 Saddle Way		3/11/2019			\$0.00
Medium	Pingitor, Larry	Classroom	1	3/12/2019		
Custodial		237B	3/11/2019 8:59:28 AM	4/9/2019		
	noving so I am hopin e boxes from me, ple		will give boxes to you we get them			
Bethann r						
12629	30 Saddle Way		3/12/2019	3/14/2019	0.25	\$7.78
Medium	Pingitor, Larry		2	3/14/2019		
			3/12/2019 6:37:00 AM	4/9/2019		
	PM Schedule created PM schedule details.	on 2/16/2011 -	playground1 no new problems at this tim	е		
Robert Ca						
12631	30 Saddle Way		3/12/2019			\$0.00
Medium	Pingitor, Larry		9	3/21/2019		
			3/12/2019 6:37:01 AM	4/9/2019		
	PM Schedule created PM schedule details.	on 2/27/2012 -	generator no test needed at this time			
Robert Ca	ortor					

Page 4 of 9

Work Order Summary List

4/9/2019 12:42:36 PM

WOID	Location	Dates:3/1/2019 - 3/31/2019 Building	Deferred By		Target Completion Date		Tota
Priority	Assigned To	Area Description	Reason	Days Aged	Actual Completion Date	Hours	Cost
Craft		Area Number	Deferred Until	Created Date/Time L	ast Status Change Date		
Description	on		Action Taken				
Requeste	r Name						
12632	30 Saddle Way			3/12/2019		0.25	\$7.78
Medium	Pingitor, Larry				3/12/2019		
Landscap	oing		3/	12/2019 6:37:02 AM	3/12/2019		
	PM Schedule created PM schedule details.	on 9/10/2012 -	court yard no issue	s found at this time			
Robert Ca	arter						
12634	30 Saddle Way	1		3/12/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		1	3/13/2019		
Custodial		Storage Room	3/1	12/2019 2:22:24 PM	4/9/2019		
	ke down the Changir		delivered to classro	oom			
Available:	oraca co.	he third floor. Time					
Jamie Su				3/14/2019		0.25	\$7.78
12635	30 Saddle Way			3/14/2019	2/44/2042	0.25	\$1.10
Medium	Pingitor, Larry		-		3/14/2019		
Heating/V	entilation /Air		3/	14/2019 1:07:38 AM	4/9/2019		
CO TO THE PROPERTY OF THE PARTY	PM Schedule created redule details.	l on 1/9/2012 - Refer	water room heat is	on pumps were ok			
Robert Ca	arter						
12636	30 Saddle Way			3/14/2019		0.25	\$7.78
Medium	Pingitor, Larry				3/14/2019		
Heating∧	entilation /Air		3/	14/2019 1:07:39 AM	4/9/2019		
	PM Schedule created nedule details.	l on 1/9/2012 - Refer	fire pump room he	at was on pumps wer	e ok		
Robert Ca	arter						
12639	30 Saddle Way			3/14/2019		0.5	\$15.57
Medium	Pingitor, Larry	Media Center		4	3/18/2019		
Doors and	d Hardware	203	3/	14/2019 3:21:28 PM	4/9/2019		
	andle on one of the classifications	는 장면에 있어요? [18] 이 이번 경기 있다면 되었다면 되었다면 보다 하다 하다 하다 하다 하다. 프리스	reattached door ha	ard ware. and filled en	npty paper towel dispense	er and soap	Í
Laura Di							
12640	30 Saddle Way			3/14/2019		0.25	\$4.57
Medium	Cardona, Dan	Media Center		1	3/15/2019		
Custodial		203	3/	14/2019 3:22:08 PM	4/9/2019		
	elease have more pa lice? Thank you	per towels in the	dan placed papert	owels			
Laura Di	×.						

WOID Priority Craft Descriptio Requester		Building Area Description Area Number	Deferred By Reason Deferred Until Action Taken	Days Aged	Target Completion Date Actual Completion Date Last Status Change Date	Labor Hours	Total Costs
12641	30 Saddle Way			3/14/2019		0.25	\$7.78
Medium	Pingitor, Larry	Restroom		. 5	3/19/2019		
Equipmen	t Maintenanœ		3	/14/2019 4:30:14 PM	4/9/2019		
paper towe	el dispenser in the m g.	ain office restroom	replaced dispens	er			
Dan Cardo	ona						
12643	30 Saddle Way		3	3/18/2019	3/21/2019	0.25	\$7.78
Medium	Pingitor, Larry			3	3/21/2019		
			3	/18/2019 1:24:12 AM	4/9/2019		
	M Schedule created M schedule details.	on 2/16/2011 -	no new issues for	und at this time			
Robert Ca					16.1		
12645	30 Saddle Way			3/18/2019		V	\$0.00
Medium	Pingitor, Larry			3	3/21/2019		
Equipmen	t Maintenance		3	/18/2019 1:24:13 AM	4/9/2019		
	M Schedule created M schedule details.	on 1/11/2012 -	kitchen staff de lii	med steamers		2.5	
Robert Ca							
12646	30 Saddle Way			3/18/2019		0.5	\$15.57
Medium	Pingitor, Larry			3	3/21/2019		
			3	/18/2019 1:24:14 AM	4/9/2019		
	M Schedule created M schedule details.	on 2/27/2012 -	generator run tim	e 244.7			
Robert Ca			20124				
12647	30 Saddle Way			3/18/2019		0.25	\$7.78
Medium	Pingitor, Larry			1	3/19/2019		
Landscapi	ng		3	/18/2019 1:24:14 AM	4/9/2019		
	M Schedule created M schedule details.	on 9/10/2012 -	courtyard checke	ed out ok picked up a fe	ew broken shingles		
Robert Ca				.5			
12648	30 Saddle Way			3/18/2019		0.25	\$7.78
Medium	Pingitor, Larry	Gym			3/18/2019		
Plum bing			3/	18/2019 10:27:00 AM	4/9/2019		
gym office Dan Cardo	bathroom toilet leaki	ing	tightened up stan	d pipe packing and va	lve		

WOID Priority Craft Description Requeste	Location Assigned To on	Dates:3/1/2019 - 3/31/2019 Building Area Description Area Number	Deferred By Request Date Reason Days Aged	Target Completion Date Actual Completion Date Last Status Change Date	Labor Hours	Tota Costs
12649	30 Saddle Way	8	3/18/2019		0.25	\$7.78
Medium	Pingitor, Larry	Restroom (Girls)	1	3/19/2019		110.00000000000000000000000000000000000
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	3/18/2019 12:19:25 PM	4/9/2019		
girls lowe	er level toilet paper dis	penser is broken	replaced dispenser			
Dan Card	lona		870 B			
12578	30 Saddle Way		3/1/2019	3/31/2019	0.75	\$23.35
Medium	Pingitor, Larry		13	3/14/2019		
			3/1/2019 4:41:43 AM	4/9/2019		
Monthly - details.	Fire Extiguishers - Re	fer to PM schedule	fire extinguishers checked out ok			
Robert Ca	arter					
12585	30 Saddle Way		3/1/2019		0.25	\$7.78
Medium	Pingitor, Larry		5	3/6/2019		
			3/1/2019 4:41:45 AM	3/12/2019		
Refer to F	PM Schedule created PM schedule details.	on 1/26/2012 -	diesel fuel for generator 812 gallons			
Refer to F	PM schedule details.	on 1/26/2012 -	diesel fuel for generator 812 gallons 3/1/2019	3	0.25	\$7.78
Refer to F Robert Ca 12586	PM schedule details. arter	on 1/26/2012 -	-	3/6/2019	0.25	\$7.78
Refer to F Robert Ca 12586	PM schedule details. arter 30 Saddle Way	on 1/26/2012 -	3/1/2019	3/6/2019 3/12/2019	0.25	\$7.78
Refer to F Robert Ca 12586 Medium Monthly -	PM schedule details. arter 30 Saddle Way		3/1/2019 5		0.25	\$7.78
Refer to F Robert Ca 12586 Medium Monthly -	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details.		3/1/2019 5 3/1/2019 4:41:45 AM		0.25	\$7.78
Refer to F Robert Co 12586 Medium Monthly - Refer to F	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details.		3/1/2019 5 3/1/2019 4:41:45 AM		0.25	
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter		3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366			
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry		3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019	3/12/2019		
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly -	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry	on 1/30/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5	3/12/2019		\$7.78 \$15.57
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly -	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry trol PM Schedule created PM schedule created PM schedule details.	on 1/30/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5 3/1/2019 4:41:47 AM	3/12/2019		
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly - Refer to F	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry trol PM Schedule created PM schedule created PM schedule details.	on 1/30/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5 3/1/2019 4:41:47 AM	3/12/2019		\$15.57
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly - Refer to F Robert Ca 12591	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry trol PM Schedule created PM schedule created PM schedule created PM schedule created PM schedule details. arter	on 1/30/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5 3/1/2019 4:41:47 AM ipm no findings	3/12/2019		\$15.57
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly - Refer to F Robert Ca	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry trol PM Schedule created PM schedule created PM schedule details. arter 30 Saddle Way arter 30 Saddle Way	on 1/30/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5 3/1/2019 4:41:47 AM ipm no findings	3/6/2019 3/6/2019 3/12/2019		\$15.57
Refer to F Robert Ca 12586 Medium Monthly - Refer to F Robert Ca 12589 Medium Pest Cont Monthly - Refer to F Robert Ca 12591 Medium Monthly -	PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created PM schedule details. arter 30 Saddle Way Pingitor, Larry trol PM Schedule created PM schedule created PM schedule details. arter 30 Saddle Way arter 30 Saddle Way	on 1/30/2012 - on 9/25/2012 -	3/1/2019 5 3/1/2019 4:41:45 AM solar readings for march.435366 3/1/2019 5 3/1/2019 4:41:47 AM ipm no findings	3/6/2019 3/6/2019 3/6/2019		

WOID	Location	Dates:3/1/2019 - 3/31/2019 Building	Deferred By		Target Completion Date	Labor	Tota
Priority	Assigned To	Area Description	Reason	Days Aged	Actual Completion Date	Hours	Costs
Craft		Area Number	Deferred Until	Created Date/Time	Last Status Change Date		
Description			Action Taken				
Requeste	rName						
12592	30 Saddle Way			3/1/2019	8	0.25	\$7.78
Medium	Pingitor, Larry	Classroom		3	3/4/2019		
General N	Maintenanœ	229		3/1/2019 10:56:42 AM	3/12/2019		
brought to	ase have 1 student de o my bathroom? The l he lower the better tho	height doesn't	delivered desk				
Liz Schau	er						
12595	30 Saddle Way		71 - 1/ 7 - =	3/4/2019	3/7/2019		\$0.00
Medium	Pingitor, Larry			2	3/6/2019		
				3/4/2019 3:22:21 AM	3/12/2019		
	PM Schedule created PM schedule details.	on 2/16/2011 -	playground1 wa	as snow covered			
Robert Ca	arter		81				
12596	30 Saddle Way			3/4/2019	3/7/2019		\$0.00
Medium	Pingitor, Larry			2	3/6/2019		
				3/4/2019 3:22:21 AM	3/12/2019		
	PM Schedule created PM schedule details.	on 2/16/2011 -	playground 2 wa	as snow covered			
Robert Ca							
12597	30 Saddle Way			3/4/2019			\$0.00
Medium	Pingitor, Larry				3/4/2019		
Equipme	nt Maintenance		- 12	3/4/2019 3:22:22 AM	3/12/2019		
	PM Schedule created PM schedule details.	on 1/11/2012 -	steamerdelime	d by kitchen staff			
Robert Ca	arter						
12598	30 Saddle Way			3/4/2019		0.75	\$23.35
Medium	Pingitor, Larry				3/4/2019		
		9		3/4/2019 3:22:23 AM	3/12/2019		
	PM Schedule created PM schedule details.	on 2/27/2012 -	generator transf	fir test run time244.1			
Robert Ca							
12599	30 Saddle Way			3/4/2019		0.25	\$7.78
Medium	Pingitor, Larry			1	3/5/2019		
Landscap				3/4/2019 3:22:23 AM	3/12/2019		
Weekly - F	PM Schedule created PM schedule details.	on 9/10/2012 -	courtyard no iss	ues found at this time			
Robert Ca							
	12:42:36 PM						Page 7 of C
11312013	12.42.00 1° W						Page 7 of 9

Page 8 of 9

Work Order Summary List

4/9/2019 12:42:36 PM

WOID	Location	Building		arget Completion Date	Labor	Tota
Priority	Assigned To	Area Description		ctual Completion Date	Hours	Cost
Craft		Area Number		st Status Change Date		
Descripti	on		Action Taken			
Requeste	er Name					
12605	30 Saddle Way		3/5/2019			\$0.00
Medium	ì	Classroom	1	3/6/2019		
General N	Maintenance	229	3/5/2019 1:50:05 PM	3/6/2019		
They can' the room	aras supposed to haw 't lock the door for a lo because they don't ha wen a magnetic strip.	ckdown if I'm not in	delivered keys	(e)		
Liz Schau	ıer					
12609	30 Saddle Way		3/6/2019	- 9	0.25	\$7.78
Medium	Pingitor, Larry	Office		3/6/2019		
Doors and	d Hardware		3/6/2019 10:01:18 AM	3/12/2019		
main offic	ce door handles are w	ery loose	oiled locks and tightened up handles on b	ooth doors		
Larry Ping	gitor					
12611	30 Saddle Way	- 0 - 5	3/6/2019		0.5	\$15.57
	_8 8	D	85 St	0/0/0040		
Medium	Pingitor, Larry	Restroom (Staff)		3/6/2019		
Medium Custodial	35	Restroom (Staff)	3/6/2019 12:14:55 PM	3/6/2019		
Custodial	35		3/6/2019 12:14:55 PM replaced dispenser			
Custodial staff rest	room by gym paper to					
Custodial staff rest broken	room by gym paper to				0.25	\$7.78
Custodial staff rest broken Dan Card	room by gym paper to dona		replaced dispenser		0.25	\$7.78
Custodial staff rest broken Dan Card 12612 Medium	room by gym paper to dona 30 Saddle Way		replaced dispenser	3/12/2019	0.25	\$7.78
Custodial staff rest broken Dan Card 12612 Medium Heating/\(\)	room by gym paper to dona 30 Saddle Way Pingitor, Larry	owel dispenser	replaced dispenser 3/7/2019	3/12/2019 3/7/2019	0.25	\$7.78
Custodial staff rest broken Dan Card 12612 Medium Heating/\(\)	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details.	owel dispenser	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM	3/12/2019 3/7/2019	0.25	\$7.78
Custodial staff rest i broken Dan Card 12612 Medium Heating/Veekly-I to PM sch	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details.	owel dispenser	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM	3/12/2019 3/7/2019	0.25	
Custodial staff rest broken Dan Card 12612 Medium Heating/\(\) Weekly-I to PM sch	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details.	owel dispenser	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok	3/12/2019 3/7/2019		
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium	room by gym paper to dona 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created nedule details. arter 30 Saddle Way	owel dispenser	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok	3/12/2019 3/7/2019 3/12/2019		
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium Heating/N Weekly - I	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry	owel dispenser on 1/9/2012 - Refer	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok	3/12/2019 3/7/2019 3/12/2019 3/12/2019		\$7.78 \$7.78
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium Heating/N Weekly - I	room by gym paper to dona 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created nedule details.	owel dispenser on 1/9/2012 - Refer	3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok 3/7/2019 3/7/2019 1:08:22 AM	3/12/2019 3/7/2019 3/12/2019 3/12/2019		
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch 12613 Medium Heating/N Weekly - I to PM sch Volume Medium Heating/N Weekly - I to PM sch	room by gym paper to dona 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created nedule details.	owel dispenser on 1/9/2012 - Refer	3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok 3/7/2019 3/7/2019 1:08:22 AM	3/12/2019 3/7/2019 3/12/2019 3/12/2019		\$7.78
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium Heating/N Weekly - I to PM sch Robert Ca 12614	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter	owel dispenser on 1/9/2012 - Refer	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok 3/7/2019 3/7/2019 1:08:22 AM fire pump room heat was on no problems	3/12/2019 3/7/2019 3/12/2019 3/12/2019	0.25	\$7.78
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium Heating/N Weekly - I to PM sch	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way arter 30 Saddle Way	owel dispenser on 1/9/2012 - Refer on 1/9/2012 - Refer	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok 3/7/2019 3/7/2019 1:08:22 AM fire pump room heat was on no problems	3/7/2019 3/12/2019 3/12/2019 3/12/2019 sat this time	0.25	\$7.78
Custodial staff rest i broken Dan Card 12612 Medium Heating/N Weekly - I to PM sch Robert Ca 12613 Medium Heating/N Weekly - I to PM sch Robert Ca 12614 Medium Moving i need 2 r	room by gym paper to dona 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way arter 30 Saddle Way	owel dispenser on 1/9/2012 - Refer on 1/9/2012 - Refer Classroom b115	replaced dispenser 3/7/2019 3/7/2019 1:08:22 AM water room heat was on pumps were ok 3/7/2019 3/7/2019 1:08:22 AM fire pump room heat was on no problems	3/7/2019 3/7/2019 3/12/2019 3/12/2019 3/7/2019	0.25	

WOID Priority Craft	Location Assigned To	Dates: 3/1/2019 - 3/31/2019 Building Area Description Area Number	Deferred By Reason Deferred Until	Request Date Days Aged	Target Completion Date Actual Completion Date Last Status Change Date	Labor Hours	Tota Costs
Description Requeste			Action Taken				
12616	30 Saddle Way			3/7/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		1	3/8/2019		
	d Hardware	2333	3	/7/2019 1:10:46 PM	3/12/2019		
Latch on I Available:	long closet door is broany	oken. Time	repaired latch				
Judy Schv	wartz						
12618	30 Saddle Way			3/8/2019		0.25	\$7.78
Medium	Pingitor, Larry	Restroom (Girls)			3/8/2019		
Custodial		LowerLevel	3	/8/2019 9:18:07 AM	3/12/2019		
	vel Girls Bathroom so uff' underneath. Time	2) [사람이는 15] [사람이 경기 및 이 사람이 있다. [사라보다 [원] 보다 [경기 (사라이 하다]	cleaned up dispen	sers			
Mike McC	ann						
12620	30 Saddle Way			3/8/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		3	3/11/2019		
Moving		b 122	3/	8/2019 10:05:59 AM	3/12/2019		
new stude	ent need desk and ch	air	delivered desk and	dchair			
Michael B	rayton						
12621	30 Saddle Way		=	3/8/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		3	3/11/2019		
Moving		2333	3	/8/2019 1:42:50 PM	3/12/2019		
be moved teacher de	e one or two extra stu I into my room and pu esk, that would be gre Fime Available: any	ıt up against my	delivered 2 studen	tdesks			
Judy Schv	wartz						
12628	30 Saddle Way			3/11/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		3	3/14/2019		
Plum bing		112A	3/1	1/2019 12:29:04 PM	4/9/2019		
turn it to h	ater doesn't turn on ri iigh. The faucet also s ilable: any time		tightened up valve	stem. cleaned spout	filter		
Melody Ki	nalifa		2				
Count: 52 Work Orders Avg. Age of		WO's 2	Total f	or Closed Work Orders	19.25	\$596.04	
Count: 5	2 Work Orders	Avg. Ag	je of WO's 2		Grand Total 1	9.25	\$596.04

Month	Total Generation (kWh) month end	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770	Family of the Control							
March, 2011	8330	5560		5		5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790		7		7	\$620	\$4,340.00	9/8/11	
June, 2011	27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
July, 2011	36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
August, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
	100 C C C C C C C C C C C C C C C C C C					_	+-20.00	7 757 100	0,11/13	

									1	
April, 2015	232854	5971	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	EI V
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18)1
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415				1	6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422	1 1				4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225		437					
	i i					391		\$77,764.50		46

^{**8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's